LEVEL TWO - PRE-VISIT

Being Born & Growing Up Activity 1:

Here is an orang-utan’s life cycle (stages of growing up) with its

All living species reproduce. behaviour at each stage as it grows up.

Reproduction is a biological
process whereby a new Phase Age | Behaviour
living organism is produced
by two parent organisms
mating. As each parent
contributes half the material Juvenile 4-6 | Travels with mother although not
in the DNA of the offspring, clinging; nests with her.

the offspring are not carbon

Infant 0-4 Clings to mother when she moves
but leaves her to feed.

copies of their parents,
although they may look like

Adolescent | 7-11 | Independent of mother but may travel

with her; social with others.

one or the other in varying Sub-adult | 10-15 | Male begins making the ‘long call’;
degrees. These offspring will both males and females social at this stage.
grow up into adults who : -
will, in turn, reproduce and Adult 15-35 | Female has usually given birth and males
so the cycle continues. (prime) sometimes travel with females. They
usually have a solitary lifestyle but can be
social with females.
Adult 35+ | Female not accompanied by infants and
(past prime) not becoming pregnant; male does not

do ‘long call’ any more; and both have
very slow movement.

When orang-utans grow up, they like to live
alone; they are the most solitary of all the
primates. Orang-utan youngsters stay with
their mothers longer than any other primate
(7 to 8 years) because they need to learn
how to survive on their own in the wild.
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Only the dominant female marmoset in the
group will reproduce to have babies and the
whole group will help to raise them! The
dominant female gives off a special scent
that stops the other females in the group
from having babies.

Information:

The whole marmoset group helps to take care of the mother
and babies. The father also plays a big role in helping to care
for them. He will carry the babies on his back much of the time,
returning them to the mother every few hours for feeding. The
mother can have up to 2 sets of twins in 1 year and can even
become pregnant 2 weeks after giving birth!

Activity 2:
Answer these multi-choice questions using the information above:

a) The common marmoset mother can have 2 sets of twins
in 1 year.

I:I True D False

b) Which female in a common marmoset group will have babies?

I:I The youngest one D The dominant one
D The oldest one |:| The prettiest one

c¢) The common marmoset father takes the baby back to the
mother for feeding every

D 7 to 8 hours |:| 2 to 3 days
D 2 to 3 hours D 5 to 6 weeks

d) How many weeks after giving birth can the common
marmoset mother become pregnant again?
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e) What stops the other females in the common marmoset
group from reproducing?
D They don’t want to
D The scent of the dominant female
D The other females fighting



